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Instructions for the Candidates
1. Write your Roil Number in the space provided on the top of this page.
2. This paper consists of one hundred (1 00) muitiple choice type of questions. Al questions are compulsory.
3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
booklet and compulsorily examine it as below -

() To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions In the booklet with the information printed on the cover page. Fauity bocklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is aver, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), {B), (C} and (D). You have to darken the oval as indicated below on the correct
response against each item.

Example: CA> @0 (C> (B where (B} is the correct response.

5. Your responses to the items are 1o be indicated on the OMR Answer Sheet under Paper — Il enly, If you mark your response at any
place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.

7. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any other unfair means, such as
change of response by scratchininor using white fluid, you will render yourseif liable to disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it

with you outside the Examination Hall. You are however, allowed to carry otlginal question booklet and duplicate copy of OMR Answer
Shest on conclusion of examination.

9. Use only Blue/Black Ball point pen.

10. Use of any calculator ar any electronic devices or log table etc., are prohibited.
11. There shall be no negative marking.

% 12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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1.

COMMERCE

Paper - Il

Find out the natural obstacie to
International Trade from the following :

(A) Tariff

(B) Transport Costs

(C) Quantative Restrictions
(D) Monetary Restrictions

The Consumer Protection Act, 2019
provides for a Central Authority which
is headed by

(A) Director General
(B) Chief Commissioner
(C) Commissioner

(D) Additional Director General

. The job of translating target customer

requirements into a working prototype
is helped by a set of methods referred
to as

(A} quality function deployment
(B) quality control process

(C) rapid prototyping

(D) marketing control

. What are the three interpersonal roles

of managers ?

(A) Director, coordinator, disseminator
(B) Spokesperson, leader, coordinator

(C) Figurehead, leader and liaison
(D) Communicator, organiser,
spouesperson

1. QAstuiell Uil QuiHl

secl Ry AH.

(A) Ycs (241%)

(B) cllgotcactal? wf
(C) uRHuHs Yol
(D) otlelislal uldeitl

- UEs Yrel AREH, 2019 3ol

Atll HR YElot 53 B Bof aldecl
52 9.

(A) Hellraums (33522 %olrd)
(B) Hu AR5 (sMaelR)
(C) uYsel (sMateR)

(D) culloll HallRuHSs (RAS|2ec
staA¥seR AolRA)

. slstdl Yidlaisuni |l aussell

3R] AR scllo] 1M
UglAlloll A4S sl HEE salMl
WA B P GeAulalHi v B.
(A) detcrit sial wmae

(B) vl (Ao ulsau

€) »sdl YetetegsfMon

(D) HERaL (wemdla) Raiaw

. dacslell 58 selL AidRuRwuRs

oAs & ?

(A) slavse?, slAslaee, SlAfaz:
(B) audlsuRdet, clls?, slildlae?
(C) Bowads, cls?, cllaixset

(D) Sy[AdeR, WINeusBR, *WEU-
Ul
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5.

Revolving capital is also known as
(A) Working capital

(B) Fixed capital

(C) Equity share capital

(D) Preference share capital

. Which of the following has the same

mean, median and mode ?
1. 6,2,5,4,3,4,1
2.4,2,2,1,3,2,3
3.237,3,8,3,2
4. 4,3,4,3,4,6,4
(A) 1

(C) 3

(B) 2
(D) 4

. Copyright does not include

(A) A work first published in India

(B) A work first published outside India
by an Indian Citizen

{C) Reproduction of work for the purpose
of the State

(D) A literary work

. A Memorandum of Association may not

include

(A) Name and objectives of the
Company

(B) Authorised share capital with
relevant details

(C) Nature of liability
(D) List of creditors

. Halsol ol BUAEA(HHIRSH) Hi

5. $cll Yol U@ sdcuni 2wud B.

AEGEICRIN
B) AR ysl

(€) 85<lldl Az 33l
(D) Vs AR 1Sl

. AAcuniell s20 UMt HES, HE2URYL

Uol GEAs UAA B,
1.6,2,5,4,3,4,1
2.4,2,2,1,3,2,3
3.237338,3,2
4.4,3,4,3,4,6,4
(A) 1

(C) 3

(B) 2
(D) 4

Csldlase |l ol WA adl «ell

(A} GURcML yaH cuct ysiEld e

s(d
(B) As eudla «totdls gl etdell
Wl YUH cud ysid sld

(C) A% 3 H2 §lAof Yot: 3aQl
(D) s Wlls sla

e Bl esd otell
(A) 5Usll of ol ol GRERA

(B) doildd (Aol A g
A2 sl

(C) el ysld

(D) QQLELR ol €l




9.

10.

1.

12.

13.

UPI denotes

(A) United Payments System Interface
(B) United Payments Interface

(C) Unified Payments Interface

(D) Union Payments Interface

Full form of CBDC

(A) Central Bank Deposit Chest

(B) Centrai Bank Digital Currency

(C) Central Bank Department Circular
(D) Central Bank Digital Clearing

is the Index of Japan.
(B) Nikkei
(D) Hangseng

(A} SENSEX
(C) Dowes

Atul and Bimal shares profits in the
ratio of 3 : 2. They admit Chirag with
yS share in the profits, which he gets
equally from Atul and Bimal. What is
new profit sharing ratio ?

(A) 53 2
(C)523

(B)325
(D) 352

For calculation of Primary Deficit of the
Country, one of the following is deducted
from Fiscal Deficit

(A) Gross Borrowing

(B) Capital Receipts
(C) Revenue Receipts
(D)

Interest Payments

9. UPI yud &
(A) Yolleies UNeed ReH Bo2dY
(B) Yolleses UHoed Bo25Y
(C) YAs15s VAo U BoFAU
(D) 3(Aauat WA Boz%U

10. CBDC of 43 ollH

(A) Aozt Ols BWAle Aze
(B) Aot 0I5 Sloect sl
(C) Aozcl ol SlweNee AR
(D) Az s Slwed sclladlol

11. %lUlololl S35 8.
(A) AcAsU (B) [ssl
(C) St (D) Za1dot

12. VA U [LIHA 3:2 ol YHIRMHL oSl

adUdl eflelR 8. Axl Rl ol gL
1/5 aotell yael 20 B % d Ade wal

(Aned WAl v yrewl 1ng 9.

algl cAdAUGlloll ol ofallel? g & ?
(A) 532 (B)325
C)523 (D) 352

13. ol wals wieell awldadl we,

[AAetniefl Bsa Acssilat vnisll
OILE SRCUHL 204 B,
(A) $¢ GuR

(B) Hsl ulets

(C) Mdycll was
(D) cauerell ysagll




14. Leontief Paradox came as first
comprehensive test of

(A) Henry George Theory of Business
Cycle

(B) Ricardian Theory of International
Trade

(C) Law of Reciprocal Demand

(D) Heckscher — Ohlin Theory of
Internationa! Trade

15. Match the items of List — | with the items
of List - Il and indicate the code of correct

matching :
List-1 List-1l
1. Section 10 (10) a. Income of
Research
Association
2. Section 10 (13 A) b. Income of
Registered
Trade Union
3. Section 10 (21) c. House Rent
Allowance
4. Section 10 {(24) d. Gratuity
Codes :
1 2 3 4
(A) a c b d
B) c d b a
C) d b c a

M d ¢ a b

14. @A g-5128 ofl yaH caus
s A3l well.

(A) 3ol w20 oll cauz us Rgia

(B) 3Astsloll wicdAndlal cauurR
Rgid

(C) wRwRs Hidtel Rgid

(D) 3dsu—3lscllell widzAE2
U Rgld

15. YA -1 ol el 2L -1t sl

A8 A 5 el AU HAAABS
yua

yll -1 yAl-n
1. 54 10 (10)  a. Yeltlel Udlseloll
wLels

2. 86M 10 (13 A) b. ollllAd cauulR

Aet ofl s
3. 561 10(21) ¢ uR ousl ey
4. 56+ 10 (24) d. Adl

sls;

B) ¢ d b a

€ d b c a

(D) d c a b
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16. What is Frank Gilbreth’s work most 16. 508 PlAod seu siHell 12 Wl
noted for ? yulld B ?
(A) Working conditions (A) stioll RAR

(B) UHA W oA wewn
(C) s HlelRsclt
(D) UHUBs cRicRelell 51H

(B) Time and motion studies
(C) Work psychology

(D) Work as a social setting
17. 3|. 100/- ol Heauoll olle uR

U8l wda B.
(A) aldelr, And os s Seslaul

(B) GRctoll YtttolaiAl

17. Rs. 100/- denomination note is signed by
(A} Governor, Reserve Bank of India

(B) Prime Minister of India

(C) Finance Minister (C) staw sl
(D) President of India (D) GlRet ot Ul
18. Holistic marketers achieve profitable 18. udongl Bz oues Rrual @Qidd
growth by expanding customer share, 5dla\, . Ul LSSl
, and capturing customer @qumcj ne| Al otsisi2s

lifetime value.

& sluct 52 B.

A ibalizi
(A) cannibalizing products (A) BEHWR GeulEot

(B) renewing a customer base (B) 3U&5 IR ot A 5201
(C) building customer loyalty (C) Ues ClSlElé'loj [al-lin
(D) creating customer needs (D) 25 w3dlaudl slsttalal

19. _  is the process of finding 19. 3 CGudiel QRY el
current values of demand for various 2 o2l PR d Aol Hidlell dciiot
:::l::; :Sf.pnces and other determining el cuell Y B,
(A) Demand estimation (A) oL viel
(B) Demand analysis (B) diot [QrxanuL
(C) Demand function (C) uioL QA

(D) Demand forecasting (D) HioL woud)
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20.

21.

22,

Which of the following is not a reason for

adopting penetration price strategy ?

(A) Product has high price elasticity in

the initial stage

(B) The product is accepted by large

number of customers

(C) Economies of large scale

production available to firm

(D) When the buyers are not able to

compare the value and utility

A ‘Patent’ is granted for
(A) A frivolous invention
(B) Formation of an abstract theory
(C) An useful invention with novelty

(D) A discovery of new form of a

known substance

Contract of indemnity relates to
(A} Providing a guarantee of a product
sold

(B) Obligation to stand for breach of
contract

(C) Obligation to stand for default of
another person

(D) Undertaking to cover the losses
caused to another person by a
human agent

20.

21.

22,

AAotmisll 53] wonr yag Bud

cjeRUoll W Usitclcllo] 51211 o12fl

(A) Gauleat YIRS ctotsstil G
B whetcl ud 8

(B) Geulgoial WAL dvaul onesl gl
llslRauHi 21A B

(C) Ul W2 Gueierl Hzl W
Geuleotell wdcaiczeal

(D) AR WIEER] YL Aa
Guallollctt (gfRoR) ol gatstt
531 sl otell

HI2 “Ueed' BUelHL
U B,

(A) A5 =g 2
(B) M Rgid ol 2usu

(C) otcllotctl 213 Gunoll
(D) onllcll ueledetl stell 3uall 20U

A ol B.

(A) AAAa crdell A28 YA wsdl

iRl 5AR

(B) $3ARell ol M2 Gou ol
gl ELZ

(C) ulot caulsel ofl gt 1R Geut
dclefl el

(D) Hloldl A% Gl Wl RABAA
Ul ofsAletal el Aat

ollatdl
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23.

24.

25.

Section 138 of Negotiable Instruments
Act, 1881, refers to

(A) Provisions regarding dishonouring

of a cheque
(B) Issue of currency notes
(C) Issue of coins

(D) Issue of letter of credit

What will be the result if the given series

is symmetrical ?
(A) X=M=2Z
(B) X >M<Z

(C) X>M>2Z

(D) X <M<Z

Share capital is shown in the balance
sheet under the head of equity and

liabilities is based on concept.
(A) Going concern
(B) Separate entity

(C) Cost

(D) Money measurement

23.

24,

25.

EENE DI &Sﬂgﬂae Ase, 1881 ofl
M 138, ol deel W B,

(A) Asall WUHLst Boll 2AoLcugull
(B) uctll 2l ol yel
(C) Rsstall ol Yol

(D) 2Uul-usL oll &l

ol AU AR AHAA Aadl uReur
9 gl ?

(A) X =M=2Z
B) X>M<Z

(C) X>M>Z

D) X <M<Z

o GRAESL AR AR 3Sla

utst ARl Y8l wa sawelRl sl
Qs dsm allclai A B,

(A) Wd Ul
(B) ucetdl A«

(C) usd?

(D) oltBll HLIUES
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26.

27.

28.

Match the items of List — | (Events) with
the items of List — Il {Type of Ratio) and
indicate the code of correct matching :

List -1 List~ I
1. Retirement of a. Sacrifice
a partner ratio
2. Admission of b. Gaining
a partner ratio
3. Death of a ¢. Existing
partner ratio
4. Insolvency of d. Capital
a partner ratio
Codes :
1 2 3 4
(A) a d c b
(B) a c d b
C) b a c d
(D) b c a d

In Indian Financial System which one
of the following is not a regulatory
institution ?

(A) SEBI (B) RBI

(C) IRDA (D) CIBIL
Banking Reguiation Act is passed in
the year

(A) 1955 (B) 1949

(C) 1969 (D) 1959

26.

27.

28.

YAl (ea)ell sitotdla Y-
(2JllxlR otl YsIR) ol clttcdl W
=l dsuell oSt

YAl -1
1. leRel Q9@ a.

yAl-n

UL IIRRTR

2. elleRell Y b, cuet QR
3. allelRe Yy  ¢. sletoll
IIB0TR
4. euwollerell ottetdl d. HSl AylaR
Aslt :
1 2 3 4
(A) a d c b
(B) a c d b
(C) b a c d
Dy b c a d

Rl steuslal carareuHi oflAuHiel
585 As (et A o2l

(A) Aoll
(C) S wR Sl A

(B) w2 ofl 2es
(D) Rla

AlZol [Ramet wRRAas  adui
Al U0 ecll.

(A) 1955
(C) 1969

(B) 1949
(D) 1959
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29.

30.

31.

32.

A systematic assessment of a firm'’s
activities having social impact is called

(A) Financial Audit

(B) Social Audit

(C) Commercial Audit
(D) Balance Sheet Audit

One of the following is not a driver of
Globalization

(A) International Trade
(B) Technological Advancement
(C) Mobility of Labour
(D) Population Growth

What is a succession plan ?

(A) Dismissing an employee for a more
favourable employee

(B) A formal process of planning to fill a
role that will become vacant

(C) A vote of no confidence in a board
member

(D) The formal process of acquiring a
new staff member

What is the term for power derived from
status or position in an organisation ?

(A) Referent (B) Expert
{C) Reward (D) Legitimate

29.

30.

31.

32,

AHZs AR wRiadl Udlell
YglAxlle] e et Heaisel A
secld 8.

(A) otleusla AU3e

(B) unulzs »(32

(C) auldreis(cauuiil) 2«32
(D) dRca o ABe

[AAouuiell s2) dllsal of wets ol
(A) iRl c_uu?
(B) ctsollsl Gald

(€) siHall olcdleflcc
(D) <l gl

GriAElstd] Negatl B2A g ?

(A) Ay sseil siARlA W2
sHAdlA Uil

(B) % s / ¢Ast sallell B dsll
Yelel 12 QRUR 2ot st

(C) 1§ ueauHl w[AUAU EUR

(D) elcll cAadl ueua Qo {2
QA ylsa

53 UE cAcUlcdAHL UE ol §lAl
Qoeleyl Al AR S ?

(A) wribls (B) lmaud
(D) slATAR

(C) el
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33.

34.

35.

36.

One of the following is not an essential
feature of a contract

(A) Two parties must provide their mutual
consent to a contract

(B) A contract must be in written form
only

(C) A contract can not be forced upon

(D) All agreements supported by
consideration are contracts

What theory is built around the
principle that ‘People make choices
regarding how to behave based on
values and beliefs’ ?

(A) Instrumental
(B) Expectancy
(C) Classical

(D) Contingency

The Income Tax Act, 1961 came into
force with effect from

(A) 18t January 1961
(B) 1%t April 1961
(C) 1stJanuary 1962
(D) 15t April 1962

Interest from investment is an
example of

(A) Capital Expenditure
(B) Revenue Expenditure
(C) Revenue Receipt

(D) Capital Receipt

33.

34.

35.

36.

[AAeuniell As 5Ae wlclgUS
aetel ol

(A) ol walA 5212 HIZ2 dMell R
AU yelot sl 291 &

(B) 5212 85 Auilcd 2agunios Aldl

RE5 A
(C) 8AR UR goul 53| astd =l

(D) (QaReu st yuEld
AHIH 5ARA SAR B

UL s sUl Rl U wRd B
% el A WU 53d A AlSledl

UAEM YR ual HlaAAR UR
UURA B 2

(A) Sl (BorgHeeEA)

(B) &

(€) wlae

(D) s[5

wlctsAL wUREH, 1961 ol
VIHAHL L],

A) 1 %la3] 1961

(

(B) 1 A 1961
(C) 1 %e2udl 1962
(

D) 1 ANt 1962

Asigiell cas A o
Gelgw 8.

(A) 4l wAd

(B) H&ycl W
(C) Hdyclt 2uas
(D) y3l ey




37.

38.

39.

40.

_ reserves are also termed
as free reserves.

(A) Capital
(B) Specific
(C) General
(D) Secret

The purchasing department buys office
supplies on a routine basis from a
pre-approved list of suppliers. This type
of purchase is classified as a

(A) modified rebuy
(B) straight rebuy
(C) new task

(D) secondary purchase

How do you describe a work group that
comprises workers with demarcated
tasks and distant line managers ?

(A) Dependent
(B) Independent
(C) Interdependent
(D} Collaborative

One of the following has never been
Governor of the Reserve Bank of India

(A) Bimal Jalan
(B) Morarji Desai
(C) I. G. Patel
(D) Urjit Patel

37.

38.

39.

40.

Vol Hell H5cl WollHcll
A3y o w1 8.

(A) ysl

(B} v

(C) Ao

(D) o

wWile ([Qewol yrasisredll yd-Ha

YR RaPd Del 0GB

yrasl Wil 8. 2l ysRell wilela
A3 collgel saHl

ud B,

(A) YURA Yot WIEL
(B) R yot: wdlel
(C) «ig s

(D) vl wW3tel

dR sl e avla 3l fla A @l

Bl At sl wal gl et
Nologoll UHLA AL B,

(A) AR

(B)

(C) iR AURd
(D) sG]

ollAeuHiell slal Axd ols 28
Sodlallotl dlclel? e o8l

(A) (At scllet
(B) {21 twe

(C) Ay, 2. uecl
(D) GFd uet
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41.

42,

43.

Which institutions set up financial
inclusion fund and financial technology
fund ?

(A} Government of India, NABARD
and RBI

(B) NABARD, UTI and RBI
(C) SIDBI, NABARD and UTI
(D) UTI, IDBI and SIDBI

One of the following is not a part of
Foreign Direct Investment

(A) Investment in wholly owned
subsidiary

(B) Foreign Institutional Investment

(C) Investment for Joint Ventures

(D) Investment for Acquisition

An increase in consumer income will
increase demand for a but
decrease demand for a

(A) substitute goods, inferior goods
(B} normal goods, inferior goods
(C) inferior goods, normal goods

(D) normal goods, complementary
goods

. In the context of production cost, what

is the relationship between Average
Variable Cost (AVC) and Average Total
Cost (ATC) ?

(A) AVC is always greater than ATC
(B) ATC is always greater than AVC
(C) AVC and ATC are equal

(D) AVC and ATC have an inverse
relationship

11.

42.

43.

44,

565 B oleusla qHLAeL WA
RISl 25allclly %S @R

(A) GURcl SR, slloltS ua
EIA EXTE)

(B) oltoll§, JZtaues wal U ellaues
(C) Rsoll, sttt uat Y&laues

(D) yElaues, wues Sloll ues
ual [@Asell

AAcumiell 52y @2l R
4L AslRLell et o8l

(A) dygl Jl@sloll Vet suell Hi Ast
(B) (A2ell 2zenslal A5

(C) UYsel ALEAU HER As1a
(D) AULESL HIZ A58

Guellsciloll aas Hiaw el

HOH AR 53 U Hi2ell

Hiowl eaLsl s

(A) AW el sctsl ojglatril aoll
il

(B) AlMHLel cefl,5cASl driacl anofl
Al

) eadl dalact aul g,
UHLA gl

(D) ALHLRA a2, YR5

Geuleet valt deolul, AL

U2 Wl (AVC) wa ud32Ast

5 Wl (ATC) 23 g ol & ?

(A) AVC &Nl ATC scll At Sl &
(B) ATC &Hall AVC $cll cltiR 8l 8
(C) AVC ¥lol ATC dHlel B

(D) AVC 3ol ATC ol calact doit B
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45.

46.

47.

48.

General journal is also known as
(A) Journal Proper

(B) Cash Journal

(C) Goods Journat

(D) Bills Journal

Fundamental Accounting Assumptions
are

1. Going concern
2. Consistency
3. Accrual

4. Cash

Codes :
(A) 1,2,3
(B) 3and 4
(C) 1and 2
(D) 2,3,4

What is the skewness of a normal
distribution ?

(A) O (B) 1
(C) -1 (D) 3
According to , the market

value of a share is equal to the present
value of future streams of dividends.

(A) Waiter
(B) Gordon
(C) Baumol
(D) Miller-Orr

45,

46.

47.

48.

Ul HLoRL AR Nl s&alH]

wla 8,
(A) QR\e Axnn

(B) RAss A¥HO
(C) Mlet A¥HA

(D) el Awnmn

Rauell uslell HOG A uRIRA B
1. g Q&

2., HlcleAcl
3. Guey
4. A5S

sl ,
(A) 1,2,3
(B) 3 il 4
(C) 1ua 2
(D) 2,3,4

YHIRL [Qct20uell [@Quudig & ?

(A) O (B) 1

(C) -1 (D) 3

H3e AR wlR Heual

elldrtetl (3Ases Yeudlotl acduet
Heaoll R B.

(A) Walter

(B) Gordon

(C) Baumol

(D) Milier-Orr
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49,

50.

51.

52.

What is the full form of NASDAQ ?

(A) National Association of Security
Dealers Automated Quotes

(B) National Association of Securities
Dealers Automated Quotations

(C) National Accounting of Securities
Dealers Association Quotes

(D) National Accounting of Security
Dealers Automated Quotations

One of the basic conditions for
determining residential status is the
period of stay in the current financial

year is days.
(A) 186 (B) 182
(C) 181 (D) 180

Leave encashment received during
service by a government or non
government employee is

(A) Fully exempted

(B) Partially exempted

(C) Fully taxable

(D) Employers’ liability to pay tax

ldentify ‘sale of ascertained goods’ from

the following.

(A) Mr. X auctions his painting to the
bidder quoting the highest amount

(B) A newspaper vendor sells a copy of
‘Times of India’

(C) A coal company sells specified
quantity of coal to a power generating
company

(D) A thief walks away with the laptop of
another person

49,

50.

51.

52.

NASDAQ o yul ol g 8 ?
(A) Aaletet WANRLeL 205 RsAAE
Sl Bl21N2s sale

(B) Aglelcd BlA RN et w5
Redlély Sl
wl2lNzs sAll2aled

(C) alalolet AsIGotlol s gL
Sl ARt sell2

(D) Alletcd ASLGA0L 25 RsAILEL
Sledl w2 s scdl2aled

B0l soll £2%%l olssl sal Hizall
Haefcl ARl As acdHiet stgusla

M AsLRLetl AMp16L

Rau 8.
(A) 186 (B) 182
(C) 181 (D) 180

wstAl(aal) @ ustdl siadl

glRl Acll £2uet HACL 209 AsS

/H 9,

(A) qudl Hs

(B) ui&ls y(

(C) Aydl suA

(D) 82 Ysclcl U2 [ ol
et ELZ]

AAeuniell ‘AsSAUL AAA HIA

ofl 2w, 52,

(A) slldiot X Al ay 281 2isla
el coletoilzal defl Wesodlatsll
&A%Y 52 B,

(B) A5 BHOUR [Abcl ‘elhe s
Sl ol ssct AA B,

(€) Sldulell suoll weaR oolze
5cl $uo{lal Sl Assy w2l
da B,

(D) 3As AR e 5l AUAU

Aol $AR UL dN2l,



-

53.

54.

55.

Doctrine of Caveat Emptor refers to

(A) Seller's responsibility to make a
verification of the product he is
selling

(B) Buyer's responsibility to examine a
property before making a purchase

(C) Conditions of warranty given by a
seller to the buyer

(D) Selling of goods illegally

Flat money means

(A) The currency is backed by tangible
assets

(B) The currency is backed by
Government guarantee

(C) The currency is backed by gold
reserves

(D) The currency is backed by
budgetary support

A commercial paper can be issued
for maturities between a minimum of
days and a maximum up

to year from the date of

issue.

(A) 7and 1
(B) 15 and 1
(C) 30 and 1
(D) 60 and 1

53.

54.

55.

3@ Wzl Redict ol
dec w1 8.

(A) % Welale] AU 53 ¥A B
Aell usiell scuell auneldl

AAUelReAl B

B) WIEl sctt udall deuloll
Auly sdlell Wileatredl
gl eLd]

(C) uleolral AUl slRL U™
adcll dRéledl Al

(D) st U A Hicte] ULl

Ay A= (5A2) o)) Wed

(A) Ul Y vrRsAMA gl AHEA B
(B) U U213 sl gl ¥HElA B
(C) ULl YA ottt sl AHEd B

(D) ucel vesus{lal v sl
UHEA B

Siuflact Quz Aol wsdl aHAsll
SRR MEL] o ol ayHl
ay el Aofl aetr wseuell

Aflwell Gelt 54l sl 8.

(A) 7 oL 1

(B) 15 ual 1

(C) 30 vial 1

(D) 60 wa 1
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56.

57.

58.

59.

Which one of the following is not
a characteristic of a bureaticratic
organisation ?

(A) Authority

(B) Regulations

(C) Command structure

(D) Change

Which types of goods are purchased
frequently, immediately and with minimum
effort by the consumers ?

(A) Speciality goods
(B) Shopping goods
(C) Unsought goods

(D) Convenience goods

Brand is the added value
endowed to products and services,

(A) Loyalty
(B) Equity
(C) Preference
(D) Identity

What is the term for the ‘rute of thumb’
type of bias in decision making ?

(A) Framing bias
(B) Hindsight bias
(C) Over-confidence bias

(D) Heuristics

56.

57.

58.

59.

ol Bainioll 58 wHAetwWl el
ctalsdl =2l

(A) ¥l
(8) Flaul
(C) UL Hioy
(D) 38R

AES G A YSIRel HIA cldalR,
Alesi@As Ul ootctd wUR W
wileauMi 21d B 2

(A) QR axgpll
(B) Wl clrefail
(C) aruHidll a2
(D) U3ASL cArefAl

AURMGE (Glles) A Geuteall
Yol Aot M2 Aud AllRle] YeU B,

(A) asledl (Qacd)
(B) dHtetcl(ss<dl)
(C) urieall(Ys0u)
(D) U (UE3ANE))

‘PG s i Relaslel Yydoise
USIR of UE 53 & ?

(A) usaR(yloy ydos

(B) weonafe ydas

(©) uA-Qaun ydys

(D) UcANllHSs (63312¥Els)



60.

61.

62.

63.

is not a credit rating

agency.

(A) SEBI

(B) CRISIL Ltd.
(C) CARE Ltd.
(D) FITCH Ltd.

What is the full form of SWIFT ?

(A) Safe Window for Interbank Financial
Transactions

(B) Safe Window in case of Financial
Transactions

(C) Society for Worldwide Interbank
Financial Telecommunication

(D) Safe Window Institute for
Transactions

The number of different persons or
households exposed to a particular
media schedule atleast once during
a specified time period is known as

(A) Range
(B) Impact
(C) Reach
(D) Intensity

Identify an item which is not a component
of balance of payment current account.

(A) Goods account

(B) Services account

(C) International liquidity account
(D) Unilateral transfers account

60.

61.

62.

63.

3812 3oL xRl sl
(A) SEBI

(B) CRISIL Ltd.

(C) CARE Ltd.

(D) FITCH Ltd.

SWIFT of Y3 cllH g B ?
(A) As [Qodl 312 Bee0s slSstarlact
2lods2AoA

(B) As (Aol et Ju w5 sSellRfluct
2led52lal

©) Al R adais Boe0ls
sifetloflact 2ellsizjellietot

(D) As (Aol Berélezie F1R Zledsaled

A 55U AHAUOU €A 200t NeSLH] B
A culcl VY YUR HILAH ARl
AubHl wAcll QAU cufs wacl
UR el van €y vz B.

(A) [Qecl?
(B) U™

(C) uala
(D) dlaelt

Al olelcdal Aol 3 2 AvERel

2ol ALY Vlclloll us atell.
(A) SCL Wi

(B) Acll Wid
(C) UictAla el Wig
(D) Asausellat doelel vug



64. has notified the 41 Ind ASs

(Indian Accounting Standards) as per the
Companies Act, 2013.

(A) Institute of Chartered Accountants of
India

(B) National Advisory Committee on
Accounting Standards

(C) Ministry of Corporate Affairs
(D) Ministry of Company Affairs

65. Match the items of List — | with the
items of List — Il and indicate the code
of correct matching :

List-1| List -1l
1. Current liabilities  a. Discount on
issue of
shares
2. Liquid assets b. Patents
3. Fictitious assets c. Bank overdraft

4. Intangible assets d. Cash and bank

balances
Codes :
1 2 3 4
(A) c a b d
B)a d b ¢
C)yc d a b
D a b d ¢

64. sucllulL, 2013 Yol A 41 Ind

ASs (eudla Batell Hitsl) w1z
Wi 8.

(A) Bdlegie Als AUES AsGo22H
AUls >

(B) alalelcd vlscuandl sMIl wWet
A ETTE| TP

(€) Rl Ay Hule wiad
(D) RREl 20y Suoll w¥al

65. 3l ~1oll cuetdllal Yyl -1 ol st Al
WA Rl dsuell A

Al -1 yAl-n

1. A wUelFA  a. detadl AR
oLELR ULS UL

2. yaudl Mesdl b. N2ee

3. UARAQs Pctsdl c. Qs wlarsgise

4. a2l Aasdl d. 35S Wal s

Rcts
sl :

B) a d b ¢

(C) c d a b

Dy a b d ¢
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66. Mr. R. Rajesh Kumar is working as | g6, s{lui.21B2l §HR TCS B€RACGEH]

Business Analyst at TCS Hyderabad. A3Ad Al ddF s 52 B,
He is drawing a basic salary of Q 3/. 50,000 oll YO UDUR AURA DA
Rs. 50,000/- p.m. and DA @ 10% @10% (RgR ctuedi yast 52 B) €2
(enters into retirement benefits). He URA Yt 52 B, A ot el e2:2U0t
has drawn a Bonus of Rs. 1,00,000/- 3/- 1,00,000 of oo™ Yt 53 B.
during the previous year. He is provided Aa st [Qett 2350181 UMl

with a rent free accommodation. Lease WA B, Aws a2l €2 HRA

rent paid by the employer valued 3/-20,000 <2l Gl YsccHl A B.
Rs. 20,000 p.m. What is the value AY 22-23 HIZ GUSL HSel 36100t

of perquisite in respect of rent free Acelui b{oj@i[aoi yeal g & 7

accommodation for the AY 22-23 7
(A) Rs. 76,000

(B) Rs. 2,40,000

(C) Rs. 1,14,000

(D) Rs. 1,20,000

(A} 3/-76,000

(B) 3/-2,40,000
(C) 3/-1,14,000
(D) 3/-1,20,000

67. Calculate the Gross Annual Value (GAV) | 67. AAell @Il wRell st culdls

from the following particulars. HE (GAV) ol ARietdl 53

Municipal value Rs. 6,00,000 RjARUA He 3/- 6,00,000

Fair rental value Rs. 9,00,000 cu¥oll eust Hel 3/-9,00,000

Standard rent Rs. 8,00,000 UHIBE A @l ¥/- 8,00,000
Actual rent Rs. 7,00,000 clidl(As eus ¥/-7,00,000
(A) Rs. 7,00,000 (A) 3/-7,00,000
(B} Rs. 8,00,000 (B) 3/- 8,00,000
(C) Rs. 9,00,000 (C) 3/-9,00,000
(D) Rs. 6,00,000 (D) 3~ 6,00,000

—
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68. Match the following items of List — | with

items of List - Il :
List -1 List -1l
a. Rightto l. 2000
Information Act
b. Information Il. 2013
Technology Act
¢. The Companies . 2005
Act
d. Sale of Goods Act IV. 1930
(A) a-1, b-Il, c¢-1Iv, d-1il
(B) a-l, b-IV, ¢c—-ll, d-1I
(C)y a=Hl, b-Il, c-I, d-1Iv
(D) a-Ml, b-I, ¢-Il, d-1IV

69. The coefficient of correlation :

(A) Is the square of the coefficient of

determination

(B) Is the square root of the coefficient

of determination
(C) Is the same as r-square

(D) Can never be negative

68. (A At L - 1 ol st AN
Yl ~ 11 ol sl @ Aa wal.

YAl -1 YAl -1

a. MRl sz 1. 2000
R(RENRT]

b. HIRH 250y H. 2013
wWRRA2H

c. $ulal AURERAan ll. 2005

d. dqg AU AEERAa4 1V, 1930

(A) a-1, b-1Il, c-1IV, d-1ll
B) a-=Ill, b—1IV, c—1I, d—I
(C) a—, b—1Il, c—1I, d—IV
(D) a—ll, b—I, ¢—I, d-1IV

69. Asoiuell Juls :
(A) Rulzeten dels ol aol 8
(B) Buizglel 9lis of adlym
(C) auR-adl Yua B

(D) s B A AP «1dl
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70.

71.

72.

73.

If the coefficient of determination is equal
to 1, then the coefficient of correlation

(A} Must also be equal to 1

(B) Can be either —1 or +1

(C) Can be any value between —1 to +1
(D) Mustbe -1

What would be the probability of an
event ‘G’ if H denotes its complement,
according to the axioms of probability ?

(A} P (G) = 1/P(H)
(B) P(G) =1 -P(H)
(C) P(G) =1+ P(H)
(D) P(G) =P(H)

Which of the following is an example
of a trade promotion 7?

(A) Free samples
{B) Discount coupons
(C) Display allowance

(D) Contests for sales representatives

What is the term for the act of getting
individuals to behave in ways that are
acceptable to a group ?

(A) Introduction
(B) Brainwashing
(C) Socialisation

(D} Propaganda

70.

71.

72.

73.

ol [eafgedl delis 1 elRloR
glal A, wusdolu oRuUs :

(A) 1ol w02 Al ANBA
(B) —1uacl +1 QU 45 B

c) 14l +1 ol c22 SlPug yeu
8 ok B

(D) -18lg AN

Helclotiotl iRt wajR % H
Aot Y25t £90d B Al ueall ‘G oll
delcstt 3ecll 69 ?

(A) P (G) = 1/P(H)
(B) P(G)=1-P(H)
(C) P(G) = 1 + P(H)
(D) P(G)=P(H)

[AActniell 53 AR YHlelele]
GELERQ & 7

(A) gl oMot

(B) (31802 gUL

(C) uedlot ®2g

(D) el yAAfRpL e wusiul

cAERAA ot W2 cllstel a Addl
A adaefl Gaw w2 g 20e 8 2
(A) uRua

(B) HOWstllallt

(C) WHPHSWQL

(D) YuUR
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74.

75.

76.

77.

IFR stands for

(A) Investment Fiuctuation Reserve
(B) Investment Financial Reserve
(C) Indian Fluctuation Reserve

(D) Indian Financial Reserve

Which one of the following makes first
offering of shares to the public ?

(A) CSO
(B) IPO
(C) REPO
(D) WTO

By which principle is utilitarianism

defined ?

(A) Equality for everyone

(B) Maximisation of outcomes for
individuals

(C) The best outcome for the majority of
people

(D) The least worst outcome for
everybody

is a non-traditional

investment.

(A} Commercial paper
(B) Equity

(C) Debenture

(D) Penny stocks

74.

75.

76.

77.

IFR 22Q :
(A) BedHo2 SEsYBlalat I Bd

(B) 8cdeNee sl8clllRuA And
(C) Bedlalet setsyR et o
(D) 8oflaiat sl nd

RAuHi]l 565 AMBR ol A6l
YaUH SR (R9R2lled) 53 B

CYRENENETEM]
(B) wuesSlA

€)
(D) soicejdlall

Gualolldicuea U Rgid g2l
AR A scuHl wd & ?

(A) €350{l AHLetcll

(B) calsavd Hi2 uRRUAle HetiHlsal

(C) Hal edtetl Sl 12 Avs WRRun

(D) €38 HIZ ML Y WRL6L URRUH

A (ot-yslAotd Aswal B.

(A) uAlac QuR
(B) es<{ldl

(C) Bl

(D) Ul 288

S —
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78.

79.

80.

81.

Capital adequacy ratio for Public
Sector Banks in India is

(A) 10%
(B) 8%
(C) 9%
(D) 12%

QR codes stands for

(A) Quick Response Codes
(B) Quick Reply Codes

(C) Quick Remittance Codes
(D) Quick Request Codes

A is “Unpredictable,

short-lived and without Social,

Economic and Political significance.”
(A) Trend

(B) Fashion

(C) Fad

(D) Style

Michael Porter’s value chain would
identify which of the following as a
support activity ?

(A) Shipping out final product

(B) Marketing products

(C) Procurement

(D) Operations

78.

79.

80.

81.

iRl 932 Aololl ols 12 38l
valitddl ol ____ 8.

(A) 10%

(B) 8%

(C) 9%

(D) 12%

QR sls Wza

(A) sclls Radlent 8ls
(B) sls fwcua sls
() sclls 2llgort 815
(D) sclls dlsare sls

A wRIUF] weudl wa
AHLY S, w5 WA AS2A Hect
(Qeotia] 8.

(A) dRl@ (Al

(B) Acll (atet)
(C) Hot (¥5)
(D) dcll el

WS W6l Yot AGet ollAotnisll
s8a UslUS Ygm oty WO B ?

(A) AN dree] ek uRaget
(B) wendlal (ERol) Geweall

(C) wla
(D) st (RAURAA)
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82.

83.

84.

According to law of variable proportion,
the 2" phase of production is exhibited

by the following total product sequence
(A) 50, 50, 50, 50

(B) 50, 110, 180, 260

(C) 50, 100, 150, 200

(D) 50, 90, 120, 140

What is the probability of drawing an ace

from a pack of 52 cards ?
(A) 1/52
(B) 2/52
(C) 4113
(D) 1113

In the context of utility maximization
subject to budget constraint, the

Lagrange multiplier represents

(A) The change in utility due to a

change in income
(B) The shadow price of the constraint
(C) The marginal utility of consumption

(D) The rate of substitution between

two goods

82.

83.

84.

(Aot YRR GeulEototl (RaM el
Geulgatoll oflogl dotsR ollAolt et
Geuteot sH gl Ye(ald wa B,

(A) 50, 50, 50, 50
(B) 50, 110, 180, 260
(C) 50, 100, 150, 200

(D) 50, 90, 120, 140

52 Ulellot UsHIYl dlgstell  Ass)
acell dewael decll ?

(A) 1/52
(B) 2/52
(C) 4/13

(D) 1/13

wgzoll Halela sutllet qERRoJQLell
HeilsRalel ecinl, calles oals 3
%Y 53 B

(A) dasHl ¥28R6ll 51200
dfRojeul %2812

(B) wauadl 2y (Fud
(C) auRlaell AHid iRyl

(D) & clrall a2 wAYell €2
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85.

86.

87.

What is the correct sequence of the

following items appearing under the

head of current assets in the balance
sheet according to the Schedule I} of the

Companies Act, 2013 ?

(A) Financial Assets, Current Tax
Assets (Net), Other Current Assets,
Inventories

(B) Inventories, Financial Assets,
Current Tax Assets {Net), Other
Current Assets

(C) Inventories, Current Tax Assets (Net),
Financial Assets, Other Current
Assets

(D) Financial Assets, Inventories, Current
Tax Assets (Net), Other Current
Assets

Rates of Tax for depreciation on patents,
technical know-how, copyrights, trade
marks, licences for the AY 22-23 is

(A) 20%
(B) 25%
(C) 15%
(D) 40%

The Competition Commission should not
look into the matters relating to

(A) Dominance of a firm
(B) Anti-competitive activities
(C) Merger of large companies

(D) Defect in the balance sheet of a
company

85.

86.

87.

FUoll 2L, 20130t URRRE 1) Heusll

wst dduMl ue MAasdleu Qs

350 o{lAoll Qo1 e2lcticusll #A

sHYD?

(A) cuglisla Masd, ag sAR
Resda (), wet Ay Aesd,
weuHofl (SoA23ln)

B) el (S.A241%), ugisla
Mesd, ug sAA Rasd
), e g Aasdl

(C) MMl (SaA2dR), Al 52ARL
RActsA (Qwdl), «wetiste Rasa,
e UG Masd

D) sliifla Retsdl, A
(SoA2319%), ue 523U Fetsdl
(Awl), et A1 MAetsdl

Neoz, 2slAsc wuislil, sidlause, 25
HIE, LU URell AY 22-23 W2
YURLeAl €A B

(A} 20%

(B) 25%

(C) 15%

(D) 40%

008l s@aa uul dQA)
A il oltoldl uR tallet

AU RSA oldl.

(A) Q& of adral

) Wweleis QAL gl
©) Nl sucllzile] Qcllollsw
(D) $usllott A2t widl
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89.

90.

91.

The difference between the expected
value of a statistic and the value of the
parameter being estimated is called a

(A) Standard error
(B) Bias
(C) Sampling error

(D) Non-sampling error

Inthe long run, in monopolistic competitive
firms

(A) Charge prices equal to marginal
cost

(B) Have excess capacity

(C) Produce at the minimum of average
total cost

(D) Have excess capacity and produce at

the minimum of average total cost

Rates of Tax on short-term capital gain
on sale of listed shares is

(A) 20%
(B) 25%
(C) 30%
(D) 15%

Section 139(9) deals with

(A} Return of income of political party
(B) Revised return

(C) Defective return

(D) Belated return

88.

89.

90.

91.

Bissloll AR HeU B WAl
MELY L YU ARl cAsletctal
sdald © :

(A) yrelld get

(B) ydoe

(©) Redat gt

(D) [@ot- @eslat oiet

Gioll oud, nAYsc &dAses aloll

pEIEMEN]
(A) Ruic walefl et Buctell
cAyclet

(B) wARst actl tnadl
(C) ¥R st el ool UR

Gellea 524,

(D) AR5t aell bR ctcll ua
URRAA FA Woll ofotcdH U

GeulEat 8q,

(@RS ARetl AUWL UR 5L dUGUell
39l Gl UR s2el €2 )
(A) 20%

(B) 25%
(C) 30%
(D) 15%

SAM 139 (9) U cAdslR 52 B,
(A) Axsla Ul dl vlase] dnd?
(B) YHRA AR

(©) wurlysd andr

(D) Qda and?




92,

93.

94.

A researcher was interested in stress
level of professor during lectures. She
took the same group of 8 professors and
measured their anxiety (out of 15) during
a normal lecture and again in a lecture in
which she paid students to be disruptive
and misbehave. The data were not
normally distributed. Which test should
she use to compare her experimental
conditions ?7

(A} Paired sample t-test
(B} Mann-Whitney test
(C) Run test

(D) Wilcoxon signed-rank test

The term “Block Capital” is also used
for

(A) Permanent working capital
(B) Equity share capital
(C) Fixed assets

(D} Fictitious assests

In cross elasticity of demand, for unrelated
goods the demand curve will be

(A) Horizontal straight line

(B) Downward sloping from top

(C) Vertical line

92.

93.

94.

(

Ag dslusa  cluvilell _ae[ﬂauoi
YlrUsloll clBlilel ¥ctRHL U &dll.

AellA 8 yltallusloll AMtetgal cllel
sl ULHLAL clivllel (R aulol wWa
s3lell As calvutel g2t AMall Rl
(5 Hidl) Holl Ul AQ QruelAA
[QAUsIRS ua A s sal HI2
YscQll 531 ocll. Bl yrea @dzel
wnadl o odl. Qellell wEls
UBRRAQAA detell sal iz Al
g2l uRRuAlefl GuL sl WUl ?

(A) U§ - Al &l - uRaw

(B) utet - flezell uRaw
(OELRIEET

(D) Qcislalet Ales - o5 Ul

2Bl (oclls) HSl ugall Guallol
HI2 Ul L 8.

(A) el stefellet ygl
(B) &s<ldl A2 18l
(©) el MesA

(D) wclirclas AasdAl

Hiolel yldyeat Ve, vloi@d
A HIE ML ds &9l.

(A) sl Al 2w

(B) Gurell 1A a2 awn auoll
(C) Qell 2wt
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95.

96.

97.

98.

The Head Quarter of WTO is in one of
the foliowing country.

(A) USA
(B) Spain
{C) India
(D) Switzerland

Which of the following types of power is
objectively observable ?

(A) Coercive power
(B) Legitimate power
(C) Group power

(D) Expert power

The present rate of GST on unfinished
diamond is

(A) 1%
(B} 0.5%
(C) 2%
(D) 0.25%

Calculate the Average Fixed Cost
(AFC), for a level of production Q = 20,
knowing that the total cost function is
TC =200 + 3Q + 2Q2.

(A) 1060
(B) 200
(C) 20
(D) 10

95.

96.

97.

98.

WTO of as Has @6l Asuigll seu
AU B 7

(A) UARSL (YAUR)

(B) 2Uget

(C) elRd

(D) RAzxdos

[AAsumiell U ysiell aGA 3qaell
WAALSoEAH B ?

(A) slocsoldl el
(B) statur Al
(C) wye Al

(D) Rwud aa

ULR R UR GST ol YetclMlol €2
)

(A) 1%

(B) 0.5%

(C) 2%

(D) 0.25%

GeulEotell ¥R Q =20 M2 URRAA RAR
Wil (AFC) ofl awtddl 53, et wal
QR el : TC =200 + 3Q + 2Q2,
(A) 1060

(B) 200

(C) 20

(D) 10



99. Match the following :
List-1

research

Fundamental
research

Longitudinal
research

Descriptive
research

Codes :

(A) a-Il, b-l,
(B) a-1Vv, b-1il,
(C) a-1IV, b-|,
(D) a-1lli, b-1,

100.

Applied l.

V.

List-1l
Gathering
knowledge skill
Fact finding
enquiry of
social events
and system

Research
carried on
several time
periods

Finding solution
of an immediate
problem

ln, d-1v
d-|
c-lll, a-1i
c-1V, d-I

C_
c—l,

Higher the price of certain luxurious

articles, higher will be the demand, this

concept is called
(A) Giffen effects
(B) Veblen effects

(C) Demonstration effects

(D) Simpson effects

99. (Aol S5t A8\
yAl -t

a. Glo] Aot I

¥l
silel A0
AsB s2cl

b. Hoect Il ue-U@s weatd
A2l et wel yekilde(l
gl el i
c. duiiel dglue M. delilol Aas
MO UR
RIETSTRIIE
uLd
d. cleletlents IV. ciesif@s
Zislltiol AHRURALAL
Gyt elucl
Asll :
(A) a~Il, b-1, c=lll, d=IV
(B) a=1Iv, b-1IlIl, c=1l, d-I
(C) a=1v, b—1I, c—=1Il, d=1i
(D) a-l, b—1l, c—1V, d-|

100.

uys detcll crgullell Bud

Recll ay &, Aol Hiol ay
89, Ul VAHA sdal B:

(A) dllget A
(B) Qoctol vuRL
(C) yedlot AU
(D) Ruddetl A
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